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Solution (Maximum Power): When no heat sink 1s used, the maximum device power
dissipation is found from Equation (8.7) as
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When a heat sink 1s used, the maximum device power dissipation 1s found from
Equation (8.6) as
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Solution (Temperature): The device temperature is T = 150 °C and the ambient
temperature 1s Tymp = 30 °C. The heat flow 1s Pp = 15.5 W. The heat sink tempera-
ture (see Figure 8.11) is found from

Tk — Tamb = Pp - Osnk—amb
or

Tk =30+ (15.5)(5) = Tgx = 107.5°C
The case temperature 1s found from

Tease — Tamb = Pp - (Bcase—snk + Osnk—case)
or

Tease =304+ (155)(1+5) =T =123°C
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In order to make 7; independent of Z;, we can design the circuit such that the coeffi-

cient of Z; is zero, or
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